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10.

OR (3121an)

How to achieve 3D model of cone using sketchup ?

THI3U BT SYANT I ¥, S 3 S| Alsd
P DY YT Hd B ?

How do you place a component in a model in revit?

6
Y Idflc ¥ Ush Afsed § Udh gcd ®9 Sleld
g7

OR (3121a1)

How to apply material in a component in revit ?

e § & gcd d 99l »d AR dR ?

How to create a walk through in a sketchup ?

a3 H did o DY §1d B ?

NT5061 1637502
2019(0dd)
Time : 3Hrs. Sem - V/Arch. Asstt.
CADD
Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP Ued & 9 39T BT SR TP &) S8 (AR HH H)

BT A1y, =92 4 Sifd -8l oI 9ad 2 |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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5. How to set alternative units in autocad. (i)
4
Jdicids H dofeus sHIsAT B 4 A
R |
OR (3121an)
Define 'lock' and 'freeze' in layer properties in (ii)
autocad.

Jicids H u_d Ul § e’ AR Wl
qRarfya & ?

6. List out the commands to create levels in floor plan (iii)

in revit.
4

¥dle ¥ Wik Wi § WX 991 & fore sneen
P A 9917 |

OR (3121a1)
(iv)
How to change the width of walls in Revit. List
commands.

¥die § ARl @ d9is1s 9 dqad 8 ?
e f& g 9

3 1637502

X is used to...........
(a) EXTRUDE,
(b) EXPLODE,
(c) XLINE

(d) ENLARGE

(31) EXTRUDE,
(§) EXPLODE,
(|) XLINE

() ENLARGE

Creates multiple copies of objects in a pattern
(a) COPY

(b) ARRAY

(c) MOVE

(d) TRIM

P.T.O
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(31) CH,

(@) DAN,
(|) DO,

(=) FI

GROUPB

Answer all Five Questions.
ol i 9eHl @ STR < |

2. What is Autocad ?

dicids ¢ 2 ?

OR(3721dT)

What are the benefits of using Autocad ?

Jfcids & T BIAS © ?

NT5061

(xx)  HIGET a¥gall & ol &l FrRfa sxar
gl

4x5=20

NT5061

(vi)

(vii)

(vii)

(viii)

5 1637502

U$ Ha a4 a1 9afad aEgel &l s
289 ted, ol w1, a1 e WA
|rer A}ar 2 |

(31) HATCH,

() FILLET,

(") CHA,

(%) PLINE

To round the edges of objects....... is used
(a) CIRCLE,

(b) FILLET,

(c) ARC,

(d) PLINE

TSl & fHIRT 3 Mo A > forg

(31) CIRCLE,
(9) FILLET,
(|) ARC,
(%) PLINE

Adds a parameter with grips to a dynamic
block defination ...............

(a) BLOCK,

(b) HATCH,

(c) PAN,

(d) ZOOM

P.T.O
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(xvi)

(xvii)

(xvii)

(xviii)

10 NT5061

2 I A a¥gall 1 9 G
fSwiee '3 S #ierd wufed dc &xar 2 |
(31) WIDE,

(8) ADCENTRE,

(") THICKNESS,

(3) ARRAY.

TR is used to..............
(a) CUT,

(b) DELETE,

(c) TRIM,

(d) FILLET

‘TR’ T SEAHTT I HXd 2 |
(1) CUT,

(§) DELETE,

(&) TRIM,

(2) FILLET

Loads, sets and modifies linetypes.
(a) LL

(b) LT,

(c) LTS,

(d) LW

NT5061

x)

(xi)

(xi)

(xii)

7 1637502

T aEgan & gaRefid a1 @& forg
9T fpar Sirar 2 |

(31) RESTORE

@) 0OPS

(&) DONUT

(g) ZOOM

To save the current block defination..............
is used.

(a) BS,

(b) UN,

(c) CHA,

(d) CN.

qdq slfd IRAT™T & 99 & g

Rendering can be done by..........
(a) GRASSHOPPER,

(b) V-RAY,

(c) ECOTECT.

(d) AUTOCAD
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11.

OR (3121d1)

How to create contour in sketchup from a 2D
drawing created in autocad ?

Jfcrbs # §91¢ MY 23] ST 4 IHINY
HHI=d Y 991 ?

Explain:-
(a) Setting of drawing limits in Autocad.
(b) Units and drafting setting.

g
(31) 2ifcids A ST AT B F=ATYT,
@) seral AR yTeUYT AfeT,

OR (312141)
Explain:-
(a) Layers in autocad,
(b) 3D Autocad
hd :_

(31) QIR™ sifciars H,
@) 331 Afciars

Kk
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11.

OR (312141)

How to create contour in sketchup from a 2D
drawing created in autocad ?

Jicrbs # §91¢ Y 23] ST 4 THINY
HHITd &Y 991G ?

Explain:-
(a) Setting of drawing limits in Autocad.
(b) Units and drafting setting.

Y -
(31) 3ifcids A |IZT AT B F=ATYT,
(@) sH=Al IR Ty Afe,

OR (312141)
Explain:-
(a) Layers in autocad,
(b) 3D Autocad
Ad :_

(31) <raRw JAferars ¥,
(@) 33 sfciars

L
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